# Investigation of the spectrum and the Jost solutions of discrete Dirac system on the whole axis 

Yelda Aygar and Murat Olgun*

## Correspondence

olgun@ankara.edu.tr Department of Mathematics, Ankara University, Tandoğan, Ankara 06100, Turkey

## Abstract

We consider the boundary value problem (BVP) for the discrete Dirac equations

$$
\left\{\begin{array}{l}
y_{n+1}^{(2)}-y_{n}^{(2)}+p_{n} y_{n}^{(1)}=\lambda y_{n}^{(1)}, \\
y_{n-1}^{(1)}-y_{n}^{(1)}+q_{n} y_{n}^{(2)}=\lambda y_{n}^{(2)},
\end{array} \quad n \in \mathbb{Z}=\{0, \pm 1, \pm 2, \ldots\} ; \quad y_{0}^{(1)}=0\right.
$$

where $\left(p_{n}\right)$ and $\left(q_{n}\right), n \in \mathbb{Z}$ are real sequences, and $\lambda$ is an eigenparameter. We find a polynomial type Jost solution of this BVP. Then we investigate the analytical properties and asymptotic behavior of the Jost solution. Using the Weyl compact perturbation theorem, we prove that a self-adjoint discrete Dirac system has a continuous spectrum filling the segment $[-2,2]$. We also prove that the Dirac system has a finite number of real eigenvalues.

## 1 Introduction

Let us consider the BVP generated by the Sturm-Liouville equation,

$$
\begin{equation*}
-y^{\prime \prime}+q(x) y=\lambda^{2} y, \quad x \in \mathbb{R}_{+}=[0, \infty), \tag{1}
\end{equation*}
$$

and the boundary condition

$$
\begin{equation*}
y(0)=0, \tag{2}
\end{equation*}
$$

where $q$ is a real valued function and $\lambda$ is a spectral parameter. The bounded solution of (1) satisfying the condition

$$
\begin{equation*}
\lim _{x \rightarrow \infty} y(x, \lambda) e^{-i \lambda x}=1, \quad \lambda \in \overline{\mathbb{C}}_{+}:=\{\lambda \in \mathbb{C}: \operatorname{Im} \lambda \geq 0\} \tag{3}
\end{equation*}
$$

will be denoted by $e(x, \lambda)$. The solution $e(x, \lambda)$ satisfies the integral equation

$$
\begin{equation*}
e(x, \lambda)=e^{i \lambda x}+\int_{x}^{\infty} \frac{\sin \lambda(t-x)}{\lambda} q(t) e(t, \lambda) d t . \tag{4}
\end{equation*}
$$

It has been shown that, under the condition

$$
\begin{equation*}
\int_{0}^{\infty} x|q(x)| d x<\infty \tag{5}
\end{equation*}
$$

the solution $e(x, \lambda)$ has the integral representation

$$
\begin{equation*}
e(x, \lambda)=e^{i \lambda x}+\int_{x}^{\infty} K(x, t) e^{i \lambda t} d t, \quad \lambda \in \overline{\mathbb{C}}_{+} \tag{6}
\end{equation*}
$$

where the function $K(x, t)$ is defined by $q$. The function $e(x, \lambda)$ is analytic with respect to $\lambda$ in $\mathbb{C}_{+}:=\{\lambda \in \mathbb{C}: \operatorname{Im} \lambda>0\}$, continuous in $\overline{\mathbb{C}}_{+}$, and

$$
\begin{equation*}
e(x, \lambda)=e^{i \lambda x}[1+o(1)], \quad \lambda \in \overline{\mathbb{C}}_{+}, x \rightarrow \infty \tag{7}
\end{equation*}
$$

holds [1].
The functions $e(x, \lambda)$ and $e(\lambda):=e(0, \lambda)$ are called the Jost solution and Jost function of the BVP (1) and (2), respectively. These functions play an important role in the solution of inverse problems of the quantum scattering theory [1-4]. In particular, the scattering data of the BVP (1) and (2) is defined in terms of Jost solution and Jost function.

Let us consider the system

$$
\begin{align*}
& a_{n} y_{n+1}^{(2)}+b_{n} y_{n}^{(2)}+p_{n} y_{n}^{(1)}=\lambda y_{n}^{(1)}, \\
& a_{n-1} y_{n-1}^{(1)}+b_{n} y_{n}^{(1)}+q_{n} y_{n}^{(2)}=\lambda y_{n}^{(2)}, \tag{8}
\end{align*}
$$

 quences, $a_{n} \neq 0, b_{n} \neq 0$ for all $n \in \mathbb{Z}$, and $\lambda$ is a spectral parameter.

If for all $n \in \mathbb{Z}, a_{n} \equiv 1$ and $b_{n} \equiv-1$, then the system (8) reduces to

$$
\left\{\begin{array}{l}
\Delta y_{n+1}^{(2)}+p_{n} y_{n}^{(1)}=\lambda y_{n}^{(1)},  \tag{9}\\
-\Delta y_{n-1}^{(1)}+q_{n} y_{n}^{(2)}=\lambda y_{n}^{(2)},
\end{array} \quad n \in \mathbb{Z}\right.
$$

where $\Delta$ is the forward difference operator, i.e.,

$$
\Delta u_{n}=u_{n+1}-u_{n} .
$$

The system (9) is the discrete analogue of the well-known Dirac system

$$
\left(\begin{array}{cc}
0 & 1 \\
-1 & 0
\end{array}\right)\binom{y_{1}^{\prime}}{y_{2}^{\prime}}+\left(\begin{array}{cc}
p(x) & 0 \\
0 & q(x)
\end{array}\right)\binom{y_{1}}{y_{2}}=\lambda\binom{y_{1}}{y_{2}}
$$

([5], Chapter 2). Therefore the system (9) is called a discrete Dirac system.
Various problems of spectral analysis of self-adjoint difference equations have been investigated in detail [6, 7]. But all of them give an exponential type Jost solution of the difference equations. In this paper, we find a polynomial type Jost solution of (9) with the
boundary condition

$$
\begin{equation*}
y_{0}^{(1)}=0, \tag{10}
\end{equation*}
$$

which is analytic in $D:=\{z:|z|<1\} \backslash\{0\}$.

## 2 Jost solutions of (9)

We will assume that the real sequences $\left\{p_{n}\right\}_{n \in \mathbb{Z}},\left\{q_{n}\right\}_{n \in \mathbb{Z}}$ satisfy

$$
\begin{equation*}
\sum_{n \in \mathbb{Z}}|n|\left(\left|p_{n}\right|+\left|q_{n}\right|\right)<\infty \tag{11}
\end{equation*}
$$

If $p_{n}=q_{n}=0$ for all $n \in \mathbb{Z}$ and

$$
\lambda=-i z-(i z)^{-1},
$$

from (9), we get

$$
\begin{align*}
& y_{n+1}^{(2)}-y_{n}^{(2)}=\left[-i z-(i z)^{-1}\right] y_{n}^{(1)},  \tag{12}\\
& y_{n-1}^{(1)}-y_{n}^{(1)}=\left[-i z-(i z)^{-1}\right] y_{n}^{(2)} .
\end{align*}
$$

It is clear that

$$
\begin{equation*}
e_{n}(z)=\binom{e_{n}^{(1)}(z)}{e_{n}^{(2)}(z)}=\binom{z}{-i} z^{2 n}, \quad n \in \mathbb{Z}, \tag{13}
\end{equation*}
$$

and

$$
\begin{equation*}
h_{n}(z)=\binom{h_{n}^{(1)}(z)}{h_{n}^{(2)}(z)}=\binom{-i}{z} z^{-2 n}, \quad n \in \mathbb{Z}, \tag{14}
\end{equation*}
$$

are the solutions of (9).
Now we find the solutions $f_{n}(z)=\binom{f_{n}^{(1)}}{f_{n}^{(2)}}, n \in \mathbb{Z}$, and $g_{n}(z)=\binom{g_{n}^{(1)}}{g_{n}^{(2)}}, n \in \mathbb{Z}$, of (9) for $\lambda=$ $-i z-(i z)^{-1}$, satisfying the condition

$$
\begin{equation*}
f_{n}(z)=[I+o(1)] e_{n}(z), \quad|z|=1, n \rightarrow \infty \tag{15}
\end{equation*}
$$

and

$$
\begin{equation*}
g_{n}(z)=[I+o(1)] h_{n}(z), \quad|z|=1, n \rightarrow-\infty, \tag{16}
\end{equation*}
$$

respectively, where $I=\left(\begin{array}{ll}1 & 0 \\ 0 & 1\end{array}\right)$.
Theorem 1 Under the condition (11) for $\lambda=-i z-(i z)^{-1}$ and $|z|=1$, (9) has the solutions $\left.f_{n}(z)=\left\{\begin{array}{l}f_{n}^{(1)} \\ f_{n}^{(2)}\end{array}\right)\right\}_{n \in \mathbb{Z}}$ and $\left.g_{n}(z)=\left\{\begin{array}{l}g_{n}^{(1)} \\ g_{n}^{(2)}\end{array}\right)\right\}_{n \in \mathbb{Z}}$ having the representations

$$
\begin{equation*}
f_{n}(z)=\binom{f_{n}^{(1)}}{f_{n}^{(2)}}=\left[I+\sum_{m=1}^{\infty} K_{n m} z^{2 m}\right]\binom{z}{-i} z^{2 n}, \quad n \in \mathbb{Z} \tag{17}
\end{equation*}
$$

$$
\begin{align*}
& g_{n}(z)=\binom{g_{n}^{(1)}}{g_{n}^{(2)}}=\left[I+\sum_{m=-1}^{-\infty} B_{n m} z^{-2 m}\right]\binom{-i}{z} z^{-2 n}, \quad n \in \mathbb{Z}  \tag{18}\\
& f_{0}^{(1)}(z)=z+\sum_{m=1}^{\infty}\left(K_{0 m}^{11} z^{2 m+1}-i K_{0 m}^{12} z^{2 m}\right) \tag{19}
\end{align*}
$$

where

$$
K_{n m}=\left(\begin{array}{ll}
K_{n m}^{11} & K_{n m}^{12} \\
K_{n m}^{21} & K_{n m}^{22}
\end{array}\right),
$$

and

$$
B_{n m}=\left(\begin{array}{cc}
B_{n m}^{11} & B_{n m}^{12} \\
B_{n m}^{21} & B_{n m}^{22}
\end{array}\right) .
$$

Proof Substituting the vector-valued functions $f$ and $g$ defined by (17) and (18) in (9), taking $\lambda=-i z-(i z)^{-1},|z|=1$, we get

$$
\begin{aligned}
& K_{n 1}^{12}=-\sum_{k=n+1}^{\infty}\left(p_{k}+q_{k}\right), \\
& K_{n 1}^{11}=\sum_{k=n+1}^{\infty} p_{k} K_{k 1}^{12}, \\
& K_{n 1}^{22}=K_{n-1,1}^{11}=\sum_{k=n}^{\infty} p_{k} K_{k 1}^{12}, \\
& K_{n 1}^{21}=K_{n 1}^{12}+p_{n} K_{n 1}^{11}+\sum_{k=n+1}^{\infty}\left[q_{k} K_{k 1}^{22}+p_{k} K_{k 1}^{11}\right], \\
& K_{n 2}^{12}=-\sum_{k=n+1}^{\infty}\left[p_{k} K_{k 1}^{11}+q_{k} K_{k 1}^{22}\right], \\
& K_{n 2}^{11}=-K_{n+1,1}^{22}+\sum_{k=n+1}^{\infty}\left[p_{k} K_{k 2}^{12}-q_{k} K_{k 1}^{21}\right], \\
& K_{n 2}^{22}=-K_{n 1}^{11}+\sum_{k=n}^{\infty}\left[p_{k} K_{k 2}^{12}-q_{k+1} K_{k+1,1}^{21}\right], \\
& K_{n 2}^{21}=K_{n 2}^{12}+\sum_{k=n}^{\infty}\left[p_{k} K_{k 2}^{11}+q_{k+1} K_{k+1,2}^{22}\right],
\end{aligned}
$$

and

$$
\begin{aligned}
& B_{n,-1}^{21}=-\sum_{k=n-1}^{-\infty}\left(p_{k}+q_{k}\right), \\
& B_{n,-1}^{22}=\sum_{k=n-1}^{-\infty} q_{k} B_{k,-1}^{21},
\end{aligned}
$$

$$
\begin{aligned}
& B_{n,-1}^{11}=\sum_{k=n}^{-\infty} q_{k} B_{k,-1}^{21}, \\
& B_{n,-1}^{12}=-\sum_{k=n-1}^{-\infty}\left(p_{k}+q_{k}\right)+\sum_{k=n}^{-\infty}\left[p_{k-1} B_{k-1,-1}^{11}+q_{k} B_{k,-1}^{22}\right] \\
& B_{n,-2}^{21}=-\sum_{k=n-1}^{-\infty}\left(p_{k} B_{k,-1}^{11}+q_{k} B_{k,-1}^{22}\right), \\
& B_{n,-2}^{22}=-B_{n-1,-1}^{11}-\sum_{k=n-1}^{-\infty}\left[q_{k} B_{k,-2}^{21}-p_{k} B_{k,-1}^{12}\right], \\
& B_{n,-2}^{11}=-B_{n,-1}^{22}+\sum_{k=n}^{-\infty}\left[q_{k} B_{k,-2}^{21}-p_{k-1} B_{k-1,-1}^{12}\right], \\
& B_{n,-2}^{12}=B_{n,-2}^{21}+\sum_{k=n-1}^{-\infty}\left[p_{k} B_{k,-2}^{11}+q_{k+1} B_{k+1,-2}^{22}\right],
\end{aligned}
$$

where $n \in \mathbb{Z}$. For $m \geq 3$ and $n \in \mathbb{Z}$, we obtain

$$
\begin{aligned}
& K_{n m}^{12}=K_{n+1, m-2}^{21}-\sum_{k=n+1}^{\infty}\left[q_{k} K_{k, m-1}^{22}+p_{k} K_{k, m-1}^{11}\right], \\
& K_{n m}^{11}=-K_{n+1, m-1}^{22}+\sum_{k=n+1}^{\infty}\left[p_{k} K_{k m}^{12}-q_{k} K_{k, m-1}^{21}\right], \\
& K_{n m}^{22}=-K_{n, m-1}^{11}+\sum_{k=n}^{\infty}\left[p_{k} K_{k m}^{12}-q_{k+1} K_{k+1, m-1}^{21}\right], \\
& K_{n m}^{21}=K_{n m}^{12}+p_{n} K_{n m}^{11}+\sum_{k=n+1}^{\infty}\left[q_{k} K_{k m}^{22}+p_{k} K_{k m}^{11}\right] .
\end{aligned}
$$

Also for $m \leq-3$ and $n \in \mathbb{Z}$, we get

$$
\begin{aligned}
& B_{n m}^{21}=-\sum_{k=n-1}^{-\infty}\left[q_{k} B_{k, m+1}^{21}+p_{k} B_{k, m+1}^{11}\right]+B_{n-1, m+2}^{12}, \\
& B_{n m}^{22}=-B_{n-1, m+1}^{11}+\sum_{k=n}^{-\infty}\left[q_{k} B_{k m}^{21}-p_{k} B_{k, m+1}^{12}\right], \\
& B_{n m}^{11}=-B_{n, m+1}^{22}+\sum_{k=n}^{-\infty}\left[q_{k} B_{k m}^{21}-p_{k-1} B_{k-1, m+1}^{12}\right], \\
& B_{n m}^{12}=B_{n+1, m-2}^{21}+\sum_{k=n}^{-\infty}\left[p_{k} B_{k, m-1}^{11}+q_{k} B_{k, m-1}^{21}\right] .
\end{aligned}
$$

Due to the condition (11), the series in the definition of $K_{n m}^{i j}$ and $B_{n m}^{i j}(i, j=1,2)$ are absolutely convergent. Therefore, $K_{n m}^{i j}$ and $B_{n m}^{i j}(i, j=1,2)$ can uniquely be defined by $p_{n}$ and $q_{n}$ $(n \in \mathbb{Z})$, i.e., the system (9) for $\lambda=-i z-(i z)^{-1},|z|=1$, have the solutions $f_{n}(z)$ given by (17) and $g_{n}(z)$ given by (18).

The solutions $f$ and $g$ are called Jost solutions of (9). Using the equalities for $K_{n m}^{i j}$ and $B_{n m}^{i j}(i, j=1,2)$ given in Theorem 1, we find

$$
\begin{equation*}
\left|K_{n m}^{i j}\right| \leq C \sum_{k=n+\left\lfloor\frac{m}{2}\right\rfloor}^{\infty}\left(\left|p_{k}\right|+\left|q_{k}\right|\right), \quad i, j=1,2, \tag{20}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|B_{n m}^{i j}\right| \leq C \sum_{k=n+\left\lfloor\frac{m}{2}\right\rfloor+1}^{-\infty}\left(\left|p_{k}\right|+\left|q_{k}\right|\right), \quad i, j=1,2 \tag{21}
\end{equation*}
$$

by induction, where $\left\lfloor\frac{m}{2}\right\rfloor$ is the integer part of $\frac{m}{2}$ and $C>0$ is a constant.
Using (20), (21), and the definitions of $f$ and $g$, we obtain (15) and (16). Also the Jost solutions have an analytic continuation from $\{z:|z|=1\}$ to $D:=\{z:|z|<1\} \backslash\{0\}$. Because of (11) and (20), we see that the series $\sum_{m=1}^{\infty} K_{n m} z^{2 m}$ and $\sum_{m=1}^{\infty} m K_{n m} z^{2 m-1}$ are uniformly convergent in $D$. Similarly from (11) and (21), we see that the series $\sum_{m=-1}^{-\infty} B_{n m} z^{2 m}$ and $\sum_{m=-1}^{-\infty} m B_{n m} z^{-2 m-1}$ are uniformly convergent in $D$.

Theorem 2 The following asymptotics hold:

$$
\begin{align*}
& \binom{f_{n}^{(1)}}{f_{n}^{(2)}}=[I+o(1)]\binom{z}{-i} z^{2 n}, \quad z \in \bar{D}:=\{z:|z| \leq 1\} \backslash\{0\}, n \rightarrow \infty,  \tag{22}\\
& \binom{g_{n}^{(1)}}{g_{n}^{(2)}}=[I+o(1)]\binom{-i}{z} z^{-2 n}, \quad z \in \bar{D}, n \rightarrow-\infty . \tag{23}
\end{align*}
$$

Proof From (17), we obtain

$$
\begin{equation*}
f_{n}^{(1)}(z) z^{-2 n-1}=1+\sum_{m=1}^{\infty} K_{n m}^{11} z^{2 m}-i \sum_{m=1}^{\infty} K_{n m}^{12} z^{2 m-1}, \quad z \in D . \tag{24}
\end{equation*}
$$

Using (20) and (24), we get

$$
\begin{align*}
\left|f_{n}^{(1)}(z) z^{-2 n-1}\right| & \leq 1+\sum_{m=1}^{\infty}\left|K_{n m}^{11}\right|+\sum_{m=1}^{\infty}\left|K_{n m}^{12}\right| \\
& \leq 1+2 C \sum_{m=1}^{\infty} \sum_{k=n+\left\lfloor\frac{m}{2}\right\rfloor}^{\infty}\left(\left|p_{k}\right|+\left|q_{k}\right|\right) \\
& \leq 1+2 C \sum_{k=n+1}^{\infty}(k-n)\left(\left|p_{k}\right|+\left|q_{k}\right|\right) \\
& \leq 1+2 C \sum_{k=n+1}^{\infty} k\left(\left|p_{k}\right|+\left|q_{k}\right|\right) \tag{25}
\end{align*}
$$

where $C$ is constant. So we have by (25)

$$
\begin{equation*}
f_{n}^{(1)}(z)=z^{2 n+1}(1+o(1)), \quad z \in \bar{D}, n \rightarrow \infty \tag{26}
\end{equation*}
$$

In a manner similar to (26), we obtain

$$
\begin{equation*}
f_{n}^{(2)}(z)=-i z^{2 n}(1+o(1)), \quad z \in \bar{D}, n \rightarrow \infty . \tag{27}
\end{equation*}
$$

From (26) and (27), we get (22). Also from (18), we obtain

$$
\begin{equation*}
i g_{n}^{(1)}(z) z^{2 n}=1+\sum_{m=-1}^{-\infty} B_{n m}^{11} z^{-2 m}+i \sum_{m=-1}^{-\infty} B_{n m}^{12} z^{-2 m+1}, \quad z \in D . \tag{28}
\end{equation*}
$$

Using (21) and (28), we have

$$
\begin{align*}
\left|i g_{n}^{(1)}(z) z^{2 n}\right| & \leq 1+\sum_{m=-1}^{-\infty}\left|B_{n m}^{11}\right|+\sum_{m=-1}^{-\infty}\left|B_{n m}^{12}\right| \\
& \leq 1+2 C \sum_{m=-1}^{-\infty} \sum_{k=n+\left\lfloor\frac{m}{2}\right\rfloor+1}^{-\infty}\left(\left|p_{k}\right|+\left|q_{k}\right|\right) \\
& \leq 1+2 C \sum_{k=n}^{-\infty}-k\left(\left|p_{k}\right|+\left|q_{k}\right|\right) \tag{29}
\end{align*}
$$

where $C$ is constant. So, we get by (29)

$$
\begin{equation*}
g_{n}^{(1)}(z)=-i z^{-2 n}(1+o(1)), \quad z \in \bar{D}, n \rightarrow-\infty . \tag{30}
\end{equation*}
$$

Similarly, we can obtain

$$
\begin{equation*}
g_{n}^{(2)}(z)=z^{-2 n+1}(1+o(1)), \quad z \in \bar{D}, n \rightarrow-\infty . \tag{31}
\end{equation*}
$$

From (30) and (31), we obtain (23).

## 3 Continuous and discrete spectrum of the BVP (9)

Let $l_{2}\left(\mathbb{Z}, \mathbb{C}^{2}\right)$ denote the Hilbert space of all complex vector sequences

$$
y=\left\{\begin{array}{l}
y_{n}^{(1)} \\
y_{n}^{(2)}
\end{array}\right\}_{n \in \mathbb{Z}}
$$

with the norm

$$
\|y\|^{2}:=\sum_{n \in \mathbb{Z}}\left|y_{n}^{(1)}\right|^{2}+\left|y_{n}^{(2)}\right|^{2} .
$$

We also define the operator $L$ generated in $\ell_{2}\left(\mathbb{Z}, \mathbb{C}^{2}\right)$ by (9). The operator $L$ is self-adjoint.

Theorem 3 If the condition (11) holds, then $\sigma_{c}(L)=[-2,2]$, where $\sigma_{c}(L)$ denotes the continuous spectrum of $L$.

Proof Let $L_{0}$ denote the operator generated in $\ell_{2}\left(\mathbb{Z}, \mathbb{C}^{2}\right)$ by the BVP

$$
\begin{aligned}
& \left\{\begin{array}{l}
\Delta y_{n}^{(2)}=\lambda y_{n}^{(1)}, \\
-\nabla y_{n}^{(1)}=\lambda y_{n}^{(2)},
\end{array}\right. \\
& y_{0}^{(1)}=0 .
\end{aligned}
$$

We also define the operator $L_{1}$ in $\ell_{2}\left(\mathbb{Z}, \mathbb{C}^{2}\right)$ by the following:

$$
L_{1}\binom{y_{n}^{(1)}}{y_{n}^{(2)}}:=\left(\begin{array}{cc}
p_{n} & 0 \\
0 & q_{n}
\end{array}\right)\binom{y_{n}^{(1)}}{y_{n}^{(2)}}=\binom{p_{n} y_{n}^{(1)}}{q_{n} y_{n}^{(2)}} .
$$

It is clear that $L_{0}=L_{0}^{*}, L=L_{0}+L_{1}$ and we can easily prove that

$$
\sigma\left(L_{0}\right)=\sigma_{c}\left(L_{0}\right)=[-2,2] .
$$

It follows from (11) that the operator $L_{1}$ is compact in $\ell_{2}\left(\mathbb{Z}, \mathbb{C}^{2}\right)[8]$.
By the Weyl Theorem [9] of a compact perturbation, we get

$$
\sigma_{c}(L)=\sigma_{c}\left(L_{0}\right)=[-2,2] .
$$

The Wronskian of the solutions

$$
U_{n}:=\left\{\binom{U_{n}^{(1)}}{U_{n}^{(2)}}\right\}_{n \in \mathbb{Z}}, \quad V_{n}:=\left\{\binom{V_{n}^{(1)}}{V_{n}^{(2)}}\right\}_{n \in \mathbb{Z}}
$$

of (8) is defined by

$$
W\left[U_{n}, V_{n}\right]=a_{n}\left[U_{n}^{(1)} V_{n+1}^{(2)}-U_{n+1}^{(2)} V_{n}^{(1)}\right] .
$$

If we define $F(z)=W\left[f_{n}(z), g_{n}(z)\right]$, then $F$ is analytic in $D$. Since the operator $L$ is selfadjoint, the eigenvalues of $L$ is real. From the definition of the eigenvalues we obtain

$$
\begin{equation*}
\sigma_{d}(L)=\left\{\lambda: \lambda=-i z-(i z)^{-1}, i z \in(-1,0) \cup(0,1), F(z)=0\right\}, \tag{32}
\end{equation*}
$$

where $\sigma_{d}(L)$ denotes the set of all eigenvalues of $L$.

Definition 1 The multiplicity of a zero of the function $F(z)$ is called the multiplicity of the corresponding eigenvalue of $L$.

Theorem 4 Under the condition (11) the operator $L$ has a finite number of real eigenvalues in $D$.

Proof To prove the theorem, we have to show that the function $F(z)$ has a finite number of real zeros in $D$. The cluster points of the zeros of the analytic function $F$ could be $-i, 0$ and $i$. Since $L$ is a self-adjoint bounded operator its eigenvalues should be different from infinity and as $z$ is ' 0 ', the eigenvalue $\lambda$ is infinity, we cannot consider ' 0 ' as a zero of the
function $F$. Also, for $z$ is $\pm i$, the eigenvalue $\lambda$ is $\pm 2$ and $D$ is bounded. But, as we know, $\pm 2$ are elements of the continuous spectrum of the operator $L$. On the other hand from the operator theory, the eigenvalues of the self-adjoint operator are not the elements of the continuous spectrum of that operator. Therefore, from the Bolzano Weierstrass Theorem the set of zeros of the function $F$ in $D$ are finite i.e., the operator $L$ has a finite number of eigenvalues.

## Competing interests

The authors declare that they have no competing interests.

## Authors' contributions

Both authors completed the paper together. Both authors read and approved the final manuscript.

Received: 8 October 2013 Accepted: 23 January 2014 Published: 13 Feb 2014

## References

1. Marchenko, VA: Sturm-Liouville Operators and Applications. Birkhäuser, Basel (1986)
2. Levitan, BM: Inverse Sturm-Liouville Problems. VSP, Zeist (1987)
3. Chadon, K, Sabatier, PC: Inverse Problems in Quantum Scattering Theory. Springer, Berlin (1977)
4. Zaharov, VE, Manakov, SV, Novikov, SP, Pitaevskiï, LP: Theory of Solutions. Plenum, New York (1984)
5. Levitan, BM, Sargsjan, IS: Sturm-Liouville and Dirac Operators. Kluwer, Dordrecht (1991)
6. Agarwal, RP: Difference Equation and Inequalities, Theory, Methods and Applications. Dekker, New York (2000)
7. Agarwal, RP, Wong, PYJ: Advanced Topics in Difference Equations. Kluwer, Dordrecht (1997)
8. Lusternik, LA, Sobolev, VI: Elements of Functional Analysis. Halsted, New York (1974)
9. Glazman, IM: Direct Methods of Qualitative Spectral Analysis of Singular Differential Operators. Israel Program for Scientific Translations, Jerusalem (1965)
```
Submit your manuscript to a SpringerOpen`
journal and benefit from:
- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article
Submit your next manuscript at \ springeropen.com
```

